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I ProcD 4 5% lambda
* Proc M4 X
I lambda {largs| code }
lambda { code } BIEIA RN E

% ruby -e 'p lambda {Ivl v + 1}
#<Proc:0xb7e1c870@-e:1>
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* lambda {lvl v * 2 }.call(3) #=> 6
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* succ =lambda {Ivlv + 1}

* psucc.calll0)  #=>1

* psucc.call(1) #=> 2

* succ.call(2) #=> 3
 succ.call(1000) #=> 1001

o defsucc(v)v+1end &IFIFRU
* psucc(1) #=> 2
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* succ2 = lambda {lvl succ.call(succ.call(v)) }

succ2.call(100) #=> 102
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Proc Z{£>7z map

def map(ary, f)

result =[]

ary.each {[v|

result << f.call(v)

]

result
end
p map([1,2,3], lambda {lviv*2}) #=>[2,4,0]
double = lambda {lvl v * 2 }
p map([1,2,3], double) #=> [2,4,6]
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Prochix

def map(ary, f)
result =[]
ary.each {|v|

result << f.call

j
result

end

p map([1,2,3], lambda {Iv| v * 27
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def map(ary)
result =[]
ary.each {|vl

result << yield(v)

]
result

end

p map([1,2,3]) {lvlv* 2}
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I counter=0
countup = lambda {
counter += 1
}
0 countup.call #=> 1 countup 1 countup 2
0 countup.call #=>2 - v Y

0 countup.call #=>3 counter=2
countup=#<Proc>
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* var=10
countup = lambda { var += 1}
double = lambda { var *= 2 }
p countup.call  #=> 11
p double.call #=> 22
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minmax = lambda {lary!| # ary (7 OvoAQ—AHIL

sorted = ary.sort #sorted (7 OvoO—AI
[sorted|0], sorted|[-1]]

}

p minmax.call([3,8,7]) #=>[3,8] |0y
psoted  #=>T5— 347 ary=[3,8,7] 3 g]
e sorted=[3,7,8] ,

minmax=#<Proc>
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°v=1
p lambda {Ivl v * 2 }.call(2) #=>4
pv #=>2
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filter

def filter(ary, f) ary KNS 41T
result = [] HOTCEDE T %
ary.each {lvl result << v if f.call(v) } XY
result

end &Y REVDOERYHT

def find_gt(n, ary)
gt = lambda {Ivl v>n ) gty otiv gl

filter(ary, gt) filter  [ary, f, result

find_gt(7, [3,8,7]) #=>[8]
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def succn(n)
lambda {Ivl v + n }
end

p succn(2).call(6) #=> 8
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Proc Z{£>7z map

def map(ary, f)

result =[]
ary.each {lv| Array#each 16
result << f.call(v) TOvI 5 F->TLNDS
j
result
end

double = lambda {Ivl v * 2 }
p map([1,2], double) #=> [2,4]
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CBAFFALTE break T O oy
def m —
loop { # 7 A1 ‘ %
loop {# 7 Av 2 2 /%
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I return

e return [Z XYy RH S DR H
I o XYY RDBAR TR L& Xk fE
o def mult(ary) #ary DEZRZEAINENTTGRY
result = 1
ary.each {|v|
eturn 0 if v == #0DHoT=HFERIL 0
result *= v
}
result

end
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o REIDExRED & DIE|HT. 7
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e def m(&b)
p b.call(10)
end
m{lviv+2} #=>12
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* defm
p yield(20)
end
succ = lambda {lviv + 1 }
m(&succ) #=> 21
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p yield(10)

end

def n(&b)
m(&b)

end

n{lviv*2} #=>20
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b
end
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def n
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